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2005 6 7,8
(
11  20m
5m 11.9 13.2 32.30 33.71
32.35 33.89 2m 6.3 10.8 33.41 34.01
5m 1 10m 4.5 30m
2.3 3.0 St.3 7.0
2.7 3.4
20m 1.36 1.54 0.6
St.A 0.35 0.85 1.54
8.1 8.8mg/€ ( 84 93%)
St.3 6 33.5
5 30 6
( 5 11 St.A,B
St.4,6 5,7m
St.3 -1.1
+3.7 +4.9 St.4
4 +1.0 +3.2
St.2,3 0.08
30m St.6  30m +1.0
( ( 1972 2004 )
-2 -3m St.6
-2 +2m
St.1,2 30m St.4  40m St.6
( -3.2 -0.7 )
St.2 ( -0.27
20m ( -0.70 -0.16)
-0.35) ( -0.03

St.2

+0.24)

(20m) 9.7 12.7

3.9
St.4,5 5

9mg/€

15m

5m
St.6

20m St.4
+5m

-0.7 +0.1 )

+0.33)

St.3 (



2005 6
1 2 3 4 5 6 A B
N 40 56.5*| 41 03.17| 41 03.67| 41 04.17| 41 07.87| 40 5.087| 41 10.67| 41 10.6~
E 140 46.0“] 140 45.97] 140 53.47] 141 02.97] 140 59.27] 141 06.57] 140 41.07)140 43.5~
(m) 47.0 53.0 52.0 47.0 40.0 39.0 58.0 69.0
2005. 6. 7(2005. 6. 7|2005. 6. 7[2005. 6. 7|2005. 6. 7{2005. 6. 7{2005. 6. 8|2005. 6. 8
10:08 11:02 11:52 15:00 13:17 15:57 8:20 8:57
BC c BC BC BC BC BC BC
8 9 8 7 8 7 8 8
(0 18.1 15.4 14.8 16.2 17.7 17 13.4 14.4
(hPa) 1018.0 | 1018.0 | 1018.0 1017 1017.5 11017 1018.0 | 1018.0
sw1 ENE2 NE3 SE4 E1 E2 s3 SE3
1 2 2 2 1 1 2 1
4 5 5 3 5 3 5 5
(m) 11.0 11.0 11.0 18.0 13.0 20.0 12.0 12.0
0m 13.70 13.30 13.30 12.70 13.40 13.30 13.30 12.60
m 11.91 13.10 12.70 12.34 12.14 12.59 13.20 12.30
10 m 11.79 11.64 11.30 11.59 10.83 11.49 13.11 12.25
20 m 11.24 11.16 10.58 11.20 9.68 10.32 12.70 11.60
30 m 11.82 10.92 10.71 9.87 8.19 9.93 12.11 11.57
40 m 11.34 10.61 9.25 9.20 11.63 10.91
50 m 10.96 10.98
10.79 10.46 6.32 7.32 7.80 9.86 10.64 9.61
om| 32.419| 32.853| 32.510| 32.301| 32.654| 32.346| 33.656| 32.612
m|  32.657| 32.840| 32.631| 32.295| 32.674| 32.323| 33.713| 32.674
10 m| 32.834| 33.180| 32.947| 32.295| 32.804| 32.366| 33.776| 33.266
20 m| 33.231| 33.893| 33.281| 32.353| 33.044| 32.579| 33.811|  33.487
30 m| 33.707| 33.941| 33.534| 33.362| 33.459| 33.576| 33.756| 33.635
40 m|  33.858| 33.947| 33.648| 33.698 33.761|  33.785
50 m 33.965 33.985
33.960| 33.992| 33.405| 33.569| 33.507| 33.721| 34.008| 33.855
5m 8.69 8.67
101.44 99.27
( :mg/L) 20 m 9.26 8.70 9.18 8.83 9.49 8.63
« - ) 104.17 98.11|  102.12 98.70|  103.05 94.76
8.26 8.29 8.70 8.13 8.80 8.47
92.44 92.13 87.68 83.97 91.86 92.74
(m 45 51 50 45 38 37 56 67
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